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Abstract In recent years, the increase of energy consumption associated with network traffic explosion is becom-
ing a major problem. For energy-efficient networking, some researchers focus on the technologies of dynamically
changing router’s processing performance and link bandwidth according to the network traffic load. However, if
such power-saving routers exists on an end-to-end network path, the accuracy of existing measurement methods of
end-to-end available bandwidth may degrade because of fluctuations of bandwidth and delay at a bottleneck link.
Furthermore, the energy efficiency of power-saving routers also decreases due to additional traffic load by bandwidth
probing. In this report, we evaluate the performance of Pathload, one of the popular end-to-end available band-
width mearsurement methods, in the environment with power-saving routers. We also show the parameter settings
of Pathload for not affecting the behavior of power-saving routers, while keeping the measurement accuracy.
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